Warm Up

Solve for x;
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Solve each o HHOMEWoOrk Questions?
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1) 7+5r+3+5=1+7r

|

|18486r = |+7r
-l -l
4+5r=7r
-Sr -Br
14 = 2r
2 a
N=v
3) 8n—7=7n-14
-7n -7n
n-7=-14 -
A e |
n=-1 -

5) 8+7n=6n+2n

g+7n= €n
-In -7n

a=n

7) Tx=3x+4x
Ix=7%x ., Tx=7x
7 7 % -1

P 0=0

Indinide Solutions

9 2+7n=—4+5n
-2 -2
TIn==b+5n
-Bn -Bn
2n-t
2 2
n=-3%

13

2) —4+6k+ 8k=—-4-Tk
4+ 14 =-4-TK
+4 +4

WK =-7K
-k TIK
K=0
7 2

K=0

4) -7b—14=-5b—4b
-To-4=-9b
+7b *+7b

-2 -2
7=b

2-4n=-5-2n
+4n +4n
2=-8+n
+5 +E
7=n

8) 4+7x=8x—2x

4+7x = b
~TX =7X

4=
-1 -1

-4ex

10) -7-3a=1-4a
+7 +7
-3a=38-49a
+4a +4a

a=2




What about this? What's different?

Make sure all numbers and variables are free
before applying any properties of equality.
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Diskabvhe 2(3X(9) = 8
Foipty bx ~10= 3
110 YD
LX< |3
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How to check your work:

X=3

2(3x-5)=38 € X actually =3
2 v ' :
5 (3 @’5)7: 3 b;g\\ﬁhn?f”
a(a-5) 3
a(4) = b
3-8



Praclice

2(3a +2)=-8






Praclice

~(3k-12) =48

'-@\-12)=48

“3K w2 =48
ol A A
3K 30
3 5
K=~ 12




Classwork:
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37=-3 +é(\i+6)
3] -245%+23p

You must distribute first!

No -3 + 5!!



Finish up the practice worksheet.

Procedure for solving for x:
* "Free up" all numbers and variables.
(Remove parenthesis by using the distributive

property.)

» Combine like terms (if any) on each
side.

» Use properties of equality to isolate x.

Don't forget to:

« Show all work

e Use transformation lines.




